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/1 Denobnstrate nore various high-level syntax for the C |anguage

/| ECE2036

/] George F. Riley, Ceorgia Tech, Fall 2012

/1 1Include the C++ output library "iostreant

#i ncl ude <i ostreanr

Il 1llustrate the definition of a C/ C++ "enuneration type"

/1 This sinply defines several synbols that can be referred to by
/1 nanme in the program and the synbols are given unique integer
// identifiers. Not this DOES NOT create a variable, but rather
/1 defines a type. W will use this type later in the "sw tch"

/1 exanpl e.

typedef enum

{
Yugo,
Ford,
Chevrol et
Chrysler,
Toyot a,
Honda,
Mer cedes,
Ferrari

} Car Mbdel s_t;

/1 Define the MyRec structure (from handout 1)

typedef struct

{ Il nyStruct has three subvariables (or conponents).
/1 Note the conponents can be different types, but don’t have to be

int a;
char b;
doubl e c;
} nyStruct;

/1 1nplenent a PriceMddel function that uses a switch statenent
/] to select one of several alternatives basd on the enuneration
/1 type argunent passed in as an argunent, and return the approxi mate

/1l cost of the nodel

doubl e PriceModel (Car Model s_t nodel)

{

/1 The switch statenent selects one of a list of alternatives

doubl e cost;
switch (nodel) {
case Yugo:
cost = 2000. 00;
br eak;
case Ford:
cost = 18000. 00;
br eak;
case Chevrol et:
cost = 19000. 00;
br eak;
case Chrysler:

/1 Cost for the Yugo
/1 break is needed, otherwise "falls through" to Ford

/] Cost for the Ford
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cost = 19500. 00;
br eak;

case Toyot a:
cost = 20000. 00;
br eak;

case Honda:
cost = 20000. 00;
br eak;

case Mercedes:
cost = 50000. 00;
br eak;

case Ferrari:
cost = 150000. 00;
br eak;

}

return cost;

}

/1 Inplement a "void" function called "Printl1". The "void" return type
/1 sinmply says the function doe not return any val ue.

/1 In this exanple, we pass a pointer to a character array

// that is termnated with the '\0' character.

/1 This also denpbnstrates the use of the de-referencing operator
/1 and the pointer increnment (++)

I

/l pStart is a pointer variable (see the » after the "char" type
/1 that points to a string of characters. This functions prints
/'l each character in turn.

void Printl (char* pStart)

{
/1 Loop until the end of string character is found
whil e(xpStart !'="\0")
{ I/ If not the end of string, print the character AND increnent
/1 the pointer variable.
std::cout << *pStart ++;
}
}

int main(int argc, char** argv)
{ I/ argc is the count of the nunber of command |ine argunents
/1 and argv is the pointer to the array of argunents

/1 Use Printl to print each argunent
for (int i =0; i < argc; i++)
{
Printl(argv[i]); // Note the function call with no return val ue
std::cout << ’'\n’; // and print the end of line

}
/1 Call the PriceMdel function for several nodels
std::cout << "Cost of Ford is " << PriceModel (Ford) << std::endl;
std::cout << "Cost of Honda is " << PriceModel (Honda) << std::endl;
std::cout << "Cost of Mercedes is " << PriceMdel (Mercedes) << std::endl;
std::cout << "Cost of Ferrari is " << PriceMdel (Ferrari) << std::endl;
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/1l Illustrate the if/else construct
doubl e hondaCost = PricelMbdel (Honda);
if (hondaCost > 15000)
{ /! Cost is nore than $15000
std::cout << "Oops, the honda is too expensive" << std::endl;

}
el se
{ I/ Buy it
std::cout<< "Ck, I'll take it" << std::endl;
}
/1 In the above, the "else" is optional. Oten we have an "if" statenent

/1 that takes sone action if sonething is true, and no action if not.

/1 Illustrate the "sizeof" operator

std::cout << "sizeof int is " << sizeof (int) << std::endl;
std::cout << "sizeof char is " << sizeof (char) << std::endl;
std::cout << "sizeof float is " << sizeof (float) << std::endl;

std::cout << "sizeof double is " << sizeof (doubl e) << std::endl;
std::cout << "sizeof nyStruct is " << sizeof (nmyStruct) << std::endl;
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